i (L)L) B

(FWeTa2-SG-2085W)

il m X

ML ERER

(FWeTa2-SG-2085C)

R—z 3
(FWeTa2-SG-2085BP)

X BERE. A-D—DEET HIRERESR
X WRDA., —BAREET SEES/FYET,

Il m X

ERRIZMALTWVEHDET B,

¥ AR HB

b R &R

200

850

okl .

— R EFHE

5 5 5
2 (16)
. . 8 - ‘ 17
. N o >
g -
) (=]
( —T =
=050 i o &
0300 4
NI hvid
BRI {8
65
©) 0nE B etk HE R ELE
R X $60x3.0t ABOO5CS-T5 JIS H 8602 FRiBELLBEHE A RIS (S68)
T @ FZ $40(36x3.0t) AB005CS-T5 | BAEAMKRBY VT4 VL (TS Vi)
== (15) -
€?%_, ) Fyy jﬁEA ¢ 60/ ADC
18/ == (12) @) *vy T&EB B40F (th=14) A60635-T5
e (5) PAVE S 3-1 G40E Q2ux/tv k) ADC
6) JLELTILEEB ®40F8 (th=75) AB063S-T5 T LR
@) IHRFE $ 40 ADC (RE—H 5 L—f)
Y ®) ] ¢ 40/ (H:h1=100) ACAC
St © R—2K Y R #1170 ACTA
(10) ibEEFy k N8 F FILSH
an | AarRfERE VRILk M8 x 15 B,W
(12) RANFRE VAR + M8 x 20 B, SW
(13) NATATRIL b M8 x 25 B, SW
(14) E7ZXER $4x19 B Sus
(15) NRANRTIERD M6 x6 B
(16) RERLERS N8 x 10 B
an Foh—RILk M10 x 100
. I ] -
| FlNeTa2-SG-2085 &= ilmeives) regecasseney
= BH $§ @8 0 ///// yosm|m]




	シートとビュー
	一般図


